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The mechanism of the mechanical dock is the same of the swing see video

t
The simplest Lotka Voltana model is not structuvallystal it is

sufficient to consider the modified L U model for Ero very
small

More realistic models take into account the camping capacity

of the two populations and the type of response of the

predator we obtain a Limit Cycle see video
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This is an example of diserta din septem

given by the iteration of a map
continuous map
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Discrete dynamical stems are important since

Thy are tools for analysing differential qs
by discelitation

They are model for natural phenomena growth

population think also to the Swing mechanical

clock

They are simple examples of chaos
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